LV.A-100
LV.A-100-AS

ELESA J& 4% it

XF R B4

- KEAENEREEEPART RO SEAREE, BEA. Mk,
FE L R E L 5 7

- REAES, TRE,

- REHWIAE T RIEN,

LVARL: R B A 5 e KR R B

- LVA-ASH . WNBRG 7O KA EAR ACFH B4, S Ha,

FrRONEEFMGREREHRT RRFE, WLAXEE W&, 0F
HESHEATHEAT, RESRIAL,

- FEHPREFERTY, FLEN2R),

A LR L LR R

L] TR ARNN g

& o

&

F 3

al

: :

.- w

-—

= =

= ’

- #

& -

% '
e

ik

& -

4 -

= =

£ -

==

£

. -

&

A€

£

&

b = -

4 &

= e

= =

4 .

. "

& :

-~

FERITWEBEFE, FEIN2H KA,

KFREFNGCREEA TERPFRAFE, ZEHERLTR
e BT R A EARA, R A, TR, & LH0E R .

KFREHT OEBBVVRE, ERTATHRENATFRES, £
RS AEFHEnREE, FHEZFE, FREAKFENRT
FAeE i,

L1

e by
i

RSB HEER + R+t g | &Y | /T | BT | ==
R E R 2 R A2 D L Li# I d | @ - [N] g g
305521 | LVA-100-24-M16x58 | 309521 | LV A-100-24-AS-M16x58 101 104 M16 58 251 305
305625 | LVA-10024-M16:98 | 300525 | LVA-10024ASM16x08 | .. 141 144 . | Mi6 98 o o 5000 302 356
305541 | LVA-100-24-M16x138 | 309541 | LV.A-100-24-AS-M16x138 181 184 M16 138 352 406
305561 | LV.A-100-24-M16x158 | 309561 | LV.A-100-24-AS-M16x158 201 204 M16 158 379 433
305625 | LVA-100-24-M20x98 | 309625 | LV.A-100-24-AS-M20x98 141 144 M20 98 372 426
305641 | LVA-100-24-M20x138 | 309641 | LV.A-100-24-AS-M20x138 181 184 M20 138 451 505
305661 | LvA-100-24-M20x158 | 300661 | LvA-10024ASM20x158 | 190 201 204 | m20 158 24 24 25000 490 544
305681 | LV.A-100-24-M20x198 | 309681 | LV.A-100-24-AS-M20x198 241 244 M20 198 573 627
305725 | LVA-100-24-M24x98 | 309725 | LV.A-100-24-AS-M24x98 141 144 M24 98 470 524
305761 | LVA-100-24-M24x158 | 309761 | LVA-100-24ASM24x158 | 100 201 204 43 | M24 158 24 24 25000 642 69
305781 | LVA-100-24-M24x198 | 309781 | LV.A-100-24-AS-M24x198 241 244 M24 198 760 814
*URARSHN RGAELERRAT, REREGLORTE, THRAIRERGEN,
# k93T TR £ b AUE,

“ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

& (elesa+BANTER




